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QUESTION 1

-- Exhibit --- Exhibit -Click the Exhibit button to view the exhibit. If A initiates a Web browsing session with D, and the E1
interface of the 208 is in NAT mode, what will be 

the source address of the packet arriving at host D? 

A. 10.1.1.1 

B. 10.1.10.5 

C. 143.45.56.1 

Correct Answer: C 

 

QUESTION 2

Which two statements are true in regards to a ScreenOS firewall in transparent mode? (Choose two.) 

A. VPNs can terminate to the VLAN1 interface IP address. 

B. Static routes must be configured if multiple virtual routers are going to be used. 
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C. It can be installed in a network without the requirement to reconfigure IP addressing schemes. 

D. You must use the console port to manage the device as you cannot manage the device using an Ethernet port. 

Correct Answer: AC 

 

QUESTION 3

Which type of NAT is performed when you implement interface-based NAT? 

A. source IP address translation 

B. destination IP address translation 

C. source IP and port address translation 

D. destination IP and port address translation 

Correct Answer: C 

 

QUESTION 4

Which three (3) statements are true in regards to a netscreen device in transparent mode? 

A. All interfaces belong to VLAN1 zone for management 

B. VPNs can terminate to the VLAN1 interface IP address 

C. Static routes must be configured if multiple virtual routers are going to be used 

D. It can be installed in a network without the requirement to reconfigure ip addressing schemes 

E. You must use the console port to manage the device as you cannot manage the device via an ethernet port. 

Correct Answer: ABD 

 

QUESTION 5

You are looking at the event log of the responding device and it says: Rejected an initial Phase 1 packet from an
unrecognized peer gateway What are three likely reasons for the failure? (Choose three.) 

A. The peer ID is misconfigured. 

B. The default gateway is missing. 

C. The preshare keys are mismatched. 

D. The gateway address is misconfigured. 

E. The outgoing interface is misconfigured. 
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Correct Answer: ADE 

JN0-740 PDF Dumps JN0-740 VCE Dumps JN0-740 Exam Questions

Powered by TCPDF (www.tcpdf.org)

JN0-740 PDF Dumps | JN0-740 VCE Dumps | JN0-740 Exam Questions                                4 / 4

https://www.pass4itsure.com/jn0-740.html
https://www.pass4itsure.com/jn0-740.html
https://www.pass4itsure.com/jn0-740.html
http://www.tcpdf.org
https://www.pass4itsure.com/jn0-740.html
https://www.pass4itsure.com/jn0-740.html
https://www.pass4itsure.com/jn0-740.html

